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And we do not say he intends to torment her.

OVERVIEW

The X 13 states that the w17°n in the case of m°%wa ¥°37 is that we do not say
™27 K&p 7wxh. This would indicate that had the 7i1wn not taught us this case,
we may have thought that there is no ?10°2 and the v is valid, since MYX
271 Xp. MvoIN finds it difficult to accept that there could be such a thought
that on account of our suspicion that maybe 2% Xp 77X it should be a
valid v3 and the woman be permitted to remarry.

mooin asks:

— AN I NINI DV 1IRY 999D 130 NN IR HLA NINY RVIV 9NN ON)
And if you will say; obviously the s is 2 how can we possibly have
said that it is not ®v2, and the woman may remarry another person when

the husband is standing and shouting that he was van the vx and it was not
™% ®p Xy, This suspicion that it may be 1121 Rp XY cannot be so strong to refute
his clear statement that he was Pvan the v sincerely, and be 7°n» an ¥R nwX. How can
there even be such a XX M.

mooIN answers:

— 15029 AKX 1N 13 DN T2 Y OOTY N> 1INY 112 NPHN 1INT MY U
And one may say; that I would have thought since the 7¥2 is not bringing
witnesses for this matter'; to support his claim that he was Yvan the v3
therefore he really does not want to be buan the “va.

mooin offers an alternate answer:
— 1195 P NYEY XYT DIUN “1NRNNY 129UN M Ham) N
Alternatively when we say that we should be concerned that perhaps there

" See (T17877) X"wan, that moon is presently following the view that no 0°7y are required if the 710°2 is *192
mhwa (See *21 7"7 R,2% 'o1n). However it would be customary to nevertheless be o7y *192 Hvan, since the
mow may deny the 71°2. The fact that the v chose to be o°7¥2 Xow 2van (coupled with the fact that ¥°37
X?1), may be sufficient proof that it is not a serious 9102, but rather 112 Rp 77WI5.
* See ‘Thinking it over # 1.
? The w"&17 M2oIN adds that even if there were 0*7y for the 7102,
* We should consider her a w13 only X%, If her husband is a 1715 he may not continue living with her.
Or if he dies she may not marry a 7.
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was no 2103, it is only in regards to being strict in this case. The reason we

should be 727 is for perhaps he intends only to be 2px» her and not to be
Svan the vi. Therefore there is a possibility that she is indeed nw 3. We should consider
her a &% nwABEn.

— 1PUN RYT\D yRYUN NP
The 71wn teaches us that there is no concern at all that the 10°2 was not sincere.
We accept the ?10°2 completely and she is not deemed a 7173 at all, even Xmn>.

SUMMARY

There are two explanations as to what the X3 means when it says that I
would have thought that 115 Xp 77wx% and the 7112 is not valid.

A. The %2 was 2v2n without 0°7v therefore it was not a sincere ?10°2 and it is
a o va.

B. The % n3 intended that we should consider the 710°2 void (and the 7w17°)
valid) only 877112, but not X?1p% that she may remarry.

THINKING IT OVER
1. Why is the ‘proof’ of not bringing 0>7v stronger than the ‘proof’ of ¥°37
R2"Mn?

2. Is the ""np" at the end of NMdOIN referring to both 2°¥17°n or only to the last
v17°n?

3. What are the relative advantages of each of the 0°x17°n of mv01n?
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